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Microsoft Visual Basic.NET

Excel Word
Visual Basic VBA
Dim grph As System.Drawing.Graphics = Me.CreateGraphics
Dim drawpen As New Pen(Color.Black, 2)
Dim fillbrush As New SolidBrush(Color.Black)
grph.DrawLine(drawpen, 50, 375, 1200, 375)
grph.DrawLine(drawpen, 625, 50, 625, 700)
grph.DrawLine(drawpen, 1200, 375, 1185, 367)
grph.DrawLine(drawpen, 1200, 375, 1185, 383)
grph._DrawLine(drawpen, 625, 50, 633, 65)
grph.DrawLine(drawpen, 625, 50, 617, 65)
grph.DrawString("x", New Font(MS Ul Gothic", 18, Font.Style.Bold), fillbrush0, 1200, 361)
grph.DrawString("'y", New Font("MS Ul Gothic", 18, Font.Style.Bold), fillbrushO, 615, 24)
grph.DrawString(*'0", New Font("MS Ul Gothic", 16, Font.Style.Bold), fillbrush0, 605, 375)
grph.DrawString(" ", New Font(*'MS Ul Gothic", 20, Font.Style.Bold), fillbrush0O, 200, 50)
Me grph
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2. drawpen

3. fillbrush

4. 9. drawpen

10. 12. fillbrush Xy
625 375

13.
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sin 6 sin 6

1. a = 250
2. m=2
3. n=3
4. For i = 0 To 359 Step 2
5. ang = i / 180 * Math.PI
6. x1 = a * Math.Sin(m * ang)
7. yl = a * Math.Sin(nh * ang)
8. ang = (i +2) / 180 * Math.PI
9. X2 = a * Math.Sin(m * ang)
10. y2 = a * Math.Sin(n * ang)
11. grph.DrawLine(drawpenl, 625 + x1, 375 - y1, 625 + x2, 375 - y2)
12 Next

1 3.

4 12.

Timer
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1. x = Int(Rnd() * 500) + 1
2. y = Int(Rnd() * 500) + 1
3. grph_DrawEllipse(drawpen, 500 + x, 600 - y, 2, 2)
4. If ((x - 500) ~ 2 + (y - 500) ~ 2) <500 ~ 2 Then naka = naka + 1
5. sousuu = sousuu + 1
6. ensyuuritu = naka / sousuu * 4.0
7. Labell.Text = Format(sousuu, "0")
8. Label2_Text = Format(ensyuuritu, "0.000")
1. 2. 500
3.
4. naka
5. sousuu
6. x 4.0
7. 8.

ensyuuritu
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Dim p(100) As Integer
n = 100
m = 100000
For i=1Tom
count = 0
For j =1Ton
If Int(Rnd() * 2) + 1 = 1 Then count = count + 1

Next

p(count) = p(count) + 1
Next
x=0

For i =0 To n
y = p(i) / m * 5000
grph_FillEllipse(fillbrush, 297 + x, 597 -y, 7, 7)
X=X+ 8

Next

p(100)
100

100000
10
16
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Dim nokori(50) As Integer
nokori(0) = 100000
For i =1 To 50

count = 0
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5 For j =1 To nokori(i - 1)
6 If Int(Rnd() * 12) + 1 = 1 Then count = count + 1
7. Next
8 nokori(i) = nokori(i - 1) - count
9. Next
10. X =2
11. For i = 0 To 50
12. y = 10
13. For j = 1 To nokori(i) / 2000
14. grph_DrawEllipse(drawpen, 300 + x, 600 - y, 7, 7)
15. y=y+9
16. Next
17. X =X+ 12
18. Next
1. nokori(50)
2. nokori(0) 100000
3. 9. count
12
10 18.

1. Dim nokoril(90), nokori2(90) As Integer

2. nokoril(0) = 100000

3. nokori2(0) = 0

4. For i =1 To 90

5. countl = 0

6. For j = 1 To nokoril(i - 1)

7. If Int(Rnd() * 25) + 1 = 1 Then countl = countl + 1
8. Next

9. count2 = 0

10. For j = 1 To nokori2(i - 1)
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If Int(Rnd() * 50) + 1 = 1 Then count2 = count2 + 1
Next
nokoril(i) = nokoril(i - 1) - countl + count2
nokori2(i) = nokori2(i - 1) + countl - count2
Next
x =0
For i =0 To 90
y1 = nokoril(i) /7 200
y2 = nokori2(i) / 200
grph_DrawEllipse(drawpen, 297 + x, 597 - y1, 7, 7)
grph_FillEllipse(fillbrush, 297 + x, 597 - y2, 7, 7)
X =x + 10
Next
1. nokoril(90) nokori2(90)
2. 3. 100000
4. 15. 25
50
16 23.

v0 = 60
v = 40
xX0=k*5*v/Vv0
grph.FillEllipse(fillbrush0, 620 + x0, 370, 10, 10)
For j =0 To 20
If k >> j * 12 Then

r=k*5-j*v0

a=j*v

If r <= 300 Then

For 1 = 1 To 360
ang = i / 180 * Math.PI

-7 -
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12. x1 = r * Math.Cos(ang) + a
13. yl = r * Math.Sin(ang)
14. ang = (i + 1) / 180 * Math.PI
15. x2 = r * Math.Cos(ang) + a
16. y2 = r * Math.Sin(ang)
17. grph.DrawLine(drawpenl, 625 + x1, 375 - y1, 625 + x2, 375 - y2)
18. Next
19. End If
20. End If
21. Next
22. k=k+1
1 2 v0 v
3 4.
5 22.
\Y v0
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